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Subtraction - 3 
1. In a stadium there are 25000 seats. On Sunday 19789 persons came to see the match. How 
many seats remained vacant? 

a)  5111     b) 5211 

c) 5311     d) None of these 

2. Government sent $ 90000 for the construction of a road. Construction department spent $ 
65625 on the road, how much money remain with the department? 

a)  $ 24275    b)  24175 

c)  $ 24375    d) None of these 

3. There were 5525 tons of sugar in a stockyard. 4228 tons of sugar were sold out, how many 
tons of sugar were left in the stockyard? 

a)  1297     b) 997 

c) 1197     d) None of these 

4. The sum of two numbers is 58238. One number is 41765. What is the other number? 

a)  15573     b) 16574 

c) 16473     d) 17573 

5. There are two numbers, the smaller number is 2529 less than the greater number. If the 
greater number is 34567, find out the smaller number? 

a) 32138     b) 32323 

c) 30238     d) 32038 

6. What is the difference between 18620 and 12785? 

a)  5835     b) 5035 

c) 5635     d) 5735 

7. A book has 2515 pages, John read 1999 pages. How many pages were left? 

a)  515     b) 516 

c) 520     d) None of these 
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8. What must be added to 85574 to make 96232? 

a) 10111     b) 10555 

c) 10558     d) 10658 

9. On a day 25000 people were expected to see a baseball match but only 18875 came. How 
many did not come? 

a)  6125     b) 6020 

c) 6225     d) None of these 

10. A man had 4000 eggs, he sold 1275 eggs. How many eggs is he left with? 

a) 2825     b) 2620 

c) 2625     d) 2725 

       


